Ry Stmple TIrderest : R M Y
4 e —— e
] S 24 = Betacple '%fﬂw Sl Aragsle & BRL X Ttme
1 OF or o
e T E - S — T =
g T PR Eg xTl
| Questron S TR R S SR T R S i DR
. pe
3 51-_ _en: Fs, 3500 .ﬁ:.-r _EJE::U'T_S at la¥ _'E_':_J. iy
A ) ps (oo b) t@&p
S ) 2380 _d) Nene aftfhese g b i
e ¢ oA S s
SR S - P X ;oo T sl = PX Kk
3 - 3%oox 1% 3 OR : St = 3500X%12% % T
] PR [ -, A8 Fe
& i SBege

o 5-:4-_5

_PFJ_




—
e

weston

. LF @ Gt ve =

| -P"l'inc‘

pv. . Kole oV TEr o eEy . o 3
— : ] Oy oo Yoo B
oY= o
Advamce Queston on ST CSmpl Tag)—
VIR T -
I Formula To Calculate R 12 ) -
Ratey = — = 100 e X100 =
. — — g‘_l R = - =4 |
PrPrnc) E:IE. X Time P YT _‘HE"
== i
|
-4
Qme—#mg S rS More +£ﬂ..fr1 fp?fm&,[e‘_l

i thaod dnegn < ST [<

PR - R ralfsd Qs o Todal armu.d

Brmourd = ST + PT'Fnc‘_;ple

e

-

=




L;l,enu Qmawﬂi s Jﬂf&ﬁ ?n54md Ef_ﬂ (e s:-}p')

Bmoa+d =P

5T =

S IE¥loa
B e

@ues4'nr>___ ok e i e VL

5 Lrid et P acesiis  BiTE § £
B 590 Pinciple Uihen » Thme 75 Speans ST s 500 aurd
f 3 Rals =5~ 14 CER TS

i o) RO paocoe . . i
) soeo o) 460N e
% e T =760 | - goo*tes . F0%00 . SRR+
= N "‘:‘T_r'._' . S s 5 &S —
— ; o T QE:-—E_ i

ﬂﬂﬂ‘:‘ ‘-"'""'Lh ts np-\*arn@

- [ P"”Clpiﬂ. 2
B ———




— d_ _EQILLP)__LLL‘DL " ‘P_r_tnfm_;nL -;3090 Ul :.:I
: : 21 =400 ’r'fmg*:?;jmsd : el
R ﬂ- ?‘)J?_?_/.,___@___ﬂ__._gi? LTy _{:)_&1&4 'f_,_ H____‘-,"—-_F)__g; 24 oL ————..__.._,¥

ey i _.:_._,.. _._P_‘K_T* 5 - .__Eﬁmﬂm s *i?“éad “"'*4'443—11_
it 8 Roli= 4437, O-—-> Hion :
R

B F HeEw o
S T O Rl L e

mm—— ——— —_—
- ———— — e ——————

—— e —

o} Pnd " Time tghen, rmrpk Pﬁw‘fxsoo m*e:m.q
Ratd = S, N

. - —— — _—
TR L —— TR S AP S —— ——— e — - o - ——ie - i
b) & Yean
=
— i e - - g — - ———— e - i
C) =+ &n
—— —— g — el e T




e o . e i S e —— .
e

Sl B = V) VR Y ¢ i Urhem Pxtnclpe FT(OODo =
& 1 coaablerls o DO . Pn Lﬂ%&ﬂlﬂ_’?—\_*#

o &) S5y, . B Wl DSV DS, i

———ﬂh._____.

“.ﬁi;h.‘a-'fwheﬂﬁwjmcufd S glvan < fucao —m

. pm———— . mmLem

oy gt -

- i e
i, i TR | T S L ﬂ—"——._ —_— e oty —

; ol
GEEA ; LR Htﬁa‘“"‘“gf “-Pg-yrmﬁﬂ—m—h%u——

------ e T § ~ 4,2 ) o= Jip 8 {412 0] # & —

- — e -8
i ~[5L:1—=——-ﬁmc;nﬁf——ﬂ—?-$fﬂapq

| e 1o

B % ST -::.H‘-x?t:rﬂt}
S8 DY =~ o :

oinn.. Q0000 i
e o S T ] Y

d— —

10000 R . QoOo0 7

i

B ——— T —

ey T S

Sy _ % Raty = 104k whtch s equal fo




/IO | PAGE A0

D\':

2wy bonend (1 M B P—ff!ans'mﬁ _omol _ asks ______‘P,gy

Rpion, B Euﬂ:/gerLchMe Qﬁﬁ&‘{?ﬂn = P)P !p(_us- y{'?ﬁn - @1‘? VR

—R@"hﬂfnly

i Tudy - Ptemis .

|
t
S
0
o
|
)
r}‘l
(y |
&I
D
= N
N
0
O
7y
5~
—
S——

e I,- 0 . _: T
\ I
BT IBAOHES L A means 190 Qué@ff’m ;

e gﬂﬁwm'p le & Qu@:ﬁ’m o i SN

_._,'Ciﬂ,_ i mp : J{;'fe:rras'f ﬁ;qr _ gﬁms : a-:a»n o a.
' PTPrleP[e (P)@= ._Cl/_mau/nﬁ to &ooco Cﬂl}
en. _.__-é’ﬁﬂr:!{ out Pﬂ*?mdp e and Rale, S

T -
—_— e et q_.—.-* g -

— e m———— p— e

Ps F(OOOD cnmaL F»'aﬁ fS [0°/, R i

Pv‘?htiple fS_-ESDﬁQﬂ _Qf:)fj R:lﬁ- Fg ,51/

ps T 500 and Rafi S &Y,

- ard PRdla Ps_ f’? 4

)  Puincple

i C} ;_D‘rf; G_d_p' e

—

: _ H
hm-_io,;m._@mmns&_apmmah.. SRR

I ; - TS A i PR _...g- _._ﬂ_tj*rd n___..h QL.__-,‘{‘.;.

|

P —

AT = = e
e — - r'

el R N o

a)\ P =(cecd




SIMPLE INTREST

1. S.lon Rs. 3500 for 3 years at 12% per annum

IS
(a)Rs. 1200 (b) 1260
(c) 2260 (d)none of these

2. A certain sum of money trebles itself in 10
years at a certain rate of S.1. p.a. then the rate
of interest is

(a) 20% (b) 10%
(c) 5% (d) None

3. A sum of money amount to Rs. 6200 is 2
years and Rs. 7400 in 3 years. The principal
and rate of interest are
(a)Rs. 3800 31.57%

(b)Rs. 3000, 20%
(c)Rs. 3500, 15%
(d) none of these

4. A sum of Rs. 46,875 was lent out at simple
interest and at the end of 1 year 8 months the
total amount was Rs. 50,000. Find the rate of
Interest per cent per annum.

(a) 4% (b) 5%
(c) 7% (d) None

5. Itthe simple interest on Rs. 20,000 increases
by Rs. 4,000 with the increase of time by 4
Yrs. Find the rate per cent per annum.

(a) 0.15% (b) 0.5%
(c) 5% (d) None
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